- AUTO
strona@ A STRONGHOLD BY PRECISION AND POWER.

NIT-200
MM epzeRBRSEER (R & AR

4-jaw through-hole power chuck
(adapter excluded)

1. NIT200E! REEHAS RO EMME - FREBIESKEREL
RIAERE » LIRS EBRBE RN » BRI EM -

2. EM : 1.5mmx60° BEEHRERO -

3. R EEAHEIBRELRTS DIN, BS, I1SO, ASA, B5-9, AR
ZEMIEE -

T
Ae e

X HiEy Serration Pitch 1.5
—— " (NIT-224 Pitch 3.0)

g 17
=)
= —+—t >
By (o)
| z
< % I = i
SIS IR SRS -T:‘ S e
S A
T [ =
: F—E
/ . 7
K / M
B
B8] : mm
B8R
BB
NIT-206 @45 12 55 2243 5812 28.5 4500 13.7 0.058 M1246 HJ06 HC06 315-0169
NIT-208 @52 16 7.4 3558 9075 26.5 3600 24 0.177 M1552 HJ08 HC08 @20-@210
NIT-210 Q75 19 8.8 4385 11319 27.5 3200 36 0.324 M1875 HJ10 HC10 025-0254
NIT-212 @91 23 10.6 5812 14990 27.5 2700 58.5 0.763 M2091 HJ12 HC12 @30-0304
NIT-215 ©@117.5 23 10.6 7240 18355 23.5 1900 114 2.331 M2511 HJ15 HC15 @50-0381
NIT-218 ©@117.5 23 10.6 7240 18355 235 1500 140 3.798 M2511 HJ15 HC15 @50-0450
NIT-224 @205 26 12 9177 23861 26.5 1000 284 15.2 ML3320 HJ24-1 HC24-1 @150-0610

R
NIT-206 169 81 140 20 104.78 16 4-M10x80 45 5 32 2275 925 11 -1 12 19 31 M55x2 60 37 73
NIT-208 210 91 170 25 133.35 20 4-M12x90 52 5 387 2975 1175 145 -15 14 205 35 Me60x2 66 38 95
NIT-210 254 100 220 30 171.45 22 4-M16x100 75 5 51 33.75 1425 85 -10.5 16 25 40 M85x2 94 43 110
NIT-212 304 110 220 30 171.45 23 4-M16x110 91 613 4575 1575 8 -15 M100x2 108 51 130
NIT-215 381 133 300 43 235 30 4-M20x135 117.5 82 4525 1525 7 -16 22 43 62 M130x2 139 66 165
NIT-218 450 133 300 43 235 30 4-M20x135 117.5 82 79.75 1525 7 -16 22 43 62 M130x2 139 66 165
NIT-224 610 147 520 60 463.6 35 8-M24x150 205 1319 875 245 16 -10 25 38 64 M215x3 230 73 180

g o N N NN
N
—
n
(e7)
a
o

6
6
6
6





